
Errata, Iterative Learning Control: Analysis, Design, and Experiments

Typos

Page Line In thesis Should be
16 -3 (3.1a) (3.1)
35 -7 |zk+1| < |zk| ‖zk+1‖ < ‖zk‖
36 -2 |FMFM−1 . . .F 1z0| ≤ γρ̄M |z0| ‖FMFM−1 . . .F 1z0‖ ≤ γρ̄M‖z0‖
53 Figure caption |Q−1(ee

iω

)| |Q−1(eiω)|
59 Figure caption Vk V (zk)

204 9 dk(t) = νd(t) nk(t) = νn(t)
204 (14.5) zk+1 = zk −G0(uk+1 − uk) + ∆dk zk+1 = zk +G0(uk+1 − uk) + ∆dk

204 (14.7) zk+1 = zk −G(uk+1 − uk)−G∆G(uk+1 − uk) + ∆dk zk+1 = zk +G(uk+1 − uk) +G∆G(uk+1 − uk) + ∆dk

205 (14.8),(14.11a) ẑk+1 = ẑk −G(uk+1 − uk) +Kk(yk − ẑk) ẑk+1 = ẑk +G(uk+1 − uk) +Kk(yk − ẑk)
206 9 (14.3) (14.1)
206 -8 u∗k = (G0)−1dk u∗k = −(G0)−1dk
207 (14.18) uk+1 = (W u + W∆u − GTW zG)−1

(
(W∆u − GTW zG)uk −

GTW z((I −Kk)ẑk +Kkyk)
) uk+1 = (W u + W∆u + GTW zG)−1

(
(W∆u + GTW zG)uk −

GTW z((I −Kk)ẑk +Kkyk)
)

207 (14.18) ẑk+1 = ẑk −G(uk+1 − uk) +Kk(yk − ẑk) ẑk+1 = ẑk +G(uk+1 − uk) +Kk(yk − ẑk)
207 -15 (14.17) and (14.18) (14.18) and (14.19)
207 (14.20) uk+1 = (I − (I + W−1

u GTW zG)−1Kk)uk + W−1
u G

TW z(I +
GW−1

u G
TW z)−1Kkyk

uk+1 = (I − (I + W−1
u G

TW zG)−1Kk)uk −W−1
u G

TW z(I +
GW−1

u G
TW z)−1Kkyk

208 1 (14.15) (14.17)
208 3 KK Kk

208 6 uk+1 = (I − (I + ζGTG)−1κk)uk + ζκkG
T (I + ζGGT )−1yk uk+1 = (I − (I + ζGTG)−1κk)uk − ζκkGT (I + ζGGT )−1yk

208 (14.21) uk+1 ≈ uk + κkG
−1yk uk+1 ≈ uk − κkG−1yk

209 9 uk+1 = uk + G−1

k+1 yk uk+1 = uk − G−1

k+1 yk
209 (14.24) zk+1 = zk −G(uk+1 − uk)−G∆G(uk+1 − uk) + ∆dk zk+1 = zk +G(uk+1 − uk) +G∆G(uk+1 − uk) + ∆dk

210 Step 5(a) u0 = W−1
u G

TW zẑ0 u0 = −W−1
u G

TW zẑ0

210 Step 5(c) uk+1 = W−1
u G

TW z ẑk+1 uk+1 = −W−1
u G

TW zẑk+1

213 Step 1 u0(t) = ζW−1
u (q)G(q−1)ẑ0(t) u0(t) = −ζW−1

u (q)G(q−1)ẑ0(t)
213 Step 3 uk+1(t) = ζW−1

u (q)G(q−1)ẑk+1(t) uk+1(t) = −ζW−1
u (q)G(q−1)ẑk+1(t)

215 Step 1 u0(t) = ζW−1
u (q)G(q−1)ẑ0(t) u0(t) = −ζW−1

u (q)G(q−1)ẑ0(t)
215 Step 3 uk+1(t) = ζW−1

u (q)G(q−1)ẑk+1(t) uk+1(t) = −ζW−1
u (q)G(q−1)ẑk+1(t)

216 -14 ẑk+1 = (I − κk(I + F̃ ))ẑk + (I +GW−1
u GTW z)−1κk(dk + nk) ẑk+1 = (I − κk(I + F̃ ))ẑk + (I +GW−1

u G
TW z)−1κk(dk + nk)

216 -12 F̃ = (I +GW−1
u G

TW z)−1G∆GW
−1
u G

TW z F̃ = (I +GW−1
u G

TW z)−1G∆GW
−1
u G

TW z


